
Australian Pump Industries Pty Ltd    |    7 Gladstone Road, Castle Hill NSW 2154    |    P: 02 8865 3500   |    F: 02 9894 4240    |      aussiepumps.com.au 

   GMP/NOV21/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Part  
Number Qty Description List price 

5076 1 Shaft extension MEC 132 $440 

6030 1 Flex. Gasket B 2587  $13 

6255 4 TECI. Screw M8X25  $3 

6353 1 Counterface 27-50-10  $32 

7674 6 Stainless steel OEB screw M8x25 $5 

7917 6 WasherD.8x17x1.5 $5 

F086 4 Zinc Nut M14 $2 

F476  1 Nut M12x1.75  $15 

F555  1 Tap AISI 316 1”G  $123 

F848  1 Stainless Steel Key B 6x6x20  $8 

F895  1 Pump Casing B3XR-A/X  $7,831 

F897  1 Valve B3XR-A Stainless Steel 3”  $1,818 

H010 1 Check Valve complete  $174 

H397 1 Mech. Seal 25-47-14 carbon/Nbr/Aisi 316 $62 

H511 1 3-Bl. Stainless Steel Impeller  $2,005 

H776 1 Motor 5.5kW – 400/690V.  Poa 

H795 1 Motor 7.5kW—400/690V. Poa  

H848 1 Stainless steel key  6x6x20 $8 

L292 1 Base Elec. Motor  $123 

L297 1 Support  $1,165 

L308 1 Flanged seal holder Poa 

L809 5 Screw T.E.  M10x35  $11 

P072  4 Screw T.E. M14x45 $8 

B3XR-A/X 5.5kW 7.5kW MOTOR  
CAT EALR  

F848 


